Monitor Stand

2 CTRUSEN ANE
AN

EXi‘I‘USIﬁl‘I ﬁl‘ld CNLC ® copyright © all rights reserve

Instruction manual

¢ (VERSION 3.10 Last updated:2023 )




Package Includes 1/2

PN
@]ﬂﬂj Eﬂﬁ[m /o o\
<D> O <D> le) O
'D@@ © ©
(@] (@]
N i \° °)
1220mm x 3 610mm x 2 610mm x 2 x4 x 3
x4 M8 x 16mm x 36 M8 x 16mm x 16 x4
M6 x 16mm x 4 M8 x 28 M8 x 28 M6 x4 M8 x 24

Ex“l-USiﬁl-l ﬁl-ll--lI EN: ® copyright © all rights reserved (VERSION 310

Last updated:2023 )

N

N



Package Includes 2/2

X 8 x 4
O inl (o fml [oon
@ ©
©® ©
T TIT - iu o ‘o in - TITTTT

Exirusicn and CNC ® copyright © all rights reserved (VERSION 3.10 Last updated2023 )

W

N



x 4 ’ M8 x 16mm x 8 M8 x 8 M6 x 4
Structural Fasteners Pack

610mm x 4 1220mm x 2 x4 x4

M6 x 16mm x 4

Repeat Same step for the other side

Exirusicn and CNC ® copyright © all rights reserved (VERSION 3.10 Last updated2023 )

Paj7



Pivot

? @ Fasteners

Pack

1220mm x 1 x 1 x 2 4080 x 2 M8 x 16mm x 8 M8 x16mm x 4 M8 x 12 M8 x4

Exirusicn and CNC ® copyright © all rights reserved (VERSION 3.10 Last updated2023 )



~
S~

610mm x 2 x4 4080 x 4 M8x 16mm x 8 M8x16mm x 24 M8 x 8 M8 x 24 M8 x 24
Pivot Fasteners -
Pack and Vesa Fasteners - b
@) © -
Pack 5 8 0 @

()
\
I
A\
)
J
S
()
(Y

o
\)



EXTRUSITR] AN
O O O

O O O

If you still have some questions regarding assembly of this product or about the manual itself,
please refer to our support department. They can be reached at

support@extrusionandcnc.com

whatsapp: +971506580398

Exirusicn and TNC ® copyright © all rights reserved (VERSION 3.10 Last updated2023 )



	STAND 001
	Sheets and Views
	Layout2


	STAND 002
	Sheets and Views
	Layout2


	STAND 003
	Sheets and Views
	Layout2


	STAND 004
	Sheets and Views
	Layout3


	STAND 005
	Sheets and Views
	Layout3


	STAND 006
	Sheets and Views
	Layout1


	STAND 007
	Sheets and Views
	Layout1



